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HiZ A%k [1594
JE{Z K4 FEHIFI—X ouT IN GROSS
1 WE = GMG/\EF 35 35 70
2 WH ZiF BEHAY-M 36 35 71
3 FgE B N—EZ—ELR 36 36 72
AT Hep £ BEZ 34 39 73
AT TH _ERE BEHAY-M 39 34 73
4T iz = 2-HOH 36 37 73
1T 2iE NE GMG/\EF 35 39 74
1T INIL ST BEHAY-M 37 37 74
T CaE=< FELAHOY 36 38 74
T Fith EA GMG/\EF 38 36 74
1T TR 5 JI1#8 38 36 74
12T L EF N—EZ—ELR 38 37 75
12T Ho = EE 37 38 75
12T MR —X% HEH 38 37 75
12T ¥ BE— N—E=—ELR 38 37 75
12T A& = BEZ 39 36 75
12T FiE Ha GMG/\EF 36 39 75
12T B HEah TE 38 37 75
12T XHF =2 GMG/\EF 39 36 75
20T IRE FE FELAHIY 38 38 76
20T e £ HEH 39 37 76
20T 1 e FELHIY 43 33 76
20T o thh 2£-H00 39 37 76
20T B AE T£E 37 39 76
20T TH A= JI1#8 38 38 76
20T FL g GMG/\EF 38 38 76
20T IV _IERES JI18 36 40 76
20T =28 &3 =X ihi 34 42 76
20T EER =R oEZ 36 40 76
30T il MEEy R 39 38 77
30T =8 F— FELAHIY 35 42 77
30T INE (2R oEZ 38 39 77
30T TGRS =1 udH 36 41 77
30T IRE FRE HEH 37 40 77
30T o GMG/\EF 37 40 77
30T EH #7 £-H0O0 35 42 77
37T Hi= _Fth BHHAY-M 39 39 78
37T K #67 TE 38 40 78
37T (R REES BHHAY-M 37 41 78
37T PE B GMG/\EF 37 41 78
37T EH £& FELHIY 41 37 78
37T T E TE 41 37 78
37T 2@ — £-H0O0 39 39 78
37T FER Tt =1 udH 41 37 78
37T TN/ HEH 41 37 78
31T =5 25 MEE 40 38 78
37T BEO IF%& TE 38 40 78
37T HH —%x FELHIY 42 36 78
49T e 15 =X - 42 37 79
49T BN _EFX £-H0O0 41 38 79
49T BRI EE HEH 41 38 79
49T BEAXR BE GMG/\EF 42 37 79
49T fit4s SR ER HEE 37 42 79
49T BEX BT TE 39 40 79
49T = B 2-H0sH 40 39 79
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49T ® X5 N—EZ—EJR 39 40 79
49T M = TE 40 39 79
58T ZFH £ A ZBEr~ E 43 37 80
58T NP IEE =t 38 42 80
58T gk ik =1 udH 40 40 80
58T SF BE BnEH 40 40 80
58T FH B i 38 42 80
58T miE 2A JGMFEH = 40 40 80
58T BN FE 2-HOH 38 42 80
58T =8 B JI1#8 41 39 80
58T INA B T£E 39 41 80
58T WH EE BEZ 38 42 80
58T HIK EE HEH 37 43 80
58T TiE XK T£E 40 40 80
58T tF pE JI1#8 39 41 80
58T J\EE FELHIY 38 42 80
58T BE B £-H0O0 41 39 80
73T HA JGMEFH = 40 41 81
73T =4 8h JII#E 37 44 81
73T U ZE N—EZ—ELR 40 41 81
73T %mrii £-H0O0 40 41 81
73T FARAKF 5 FELHIY 37 44 81
73T EiFX £F N—E=—ELR 40 41 81
73T ifE HhE FELHIY 43 38 81
73T EZEX Bx% =X ihi 41 40 81
73T 2R ER GMG/\EF 44 37 81
73T XE = HEH 39 42 81
73T I MEEy R 41 40 81
73T Hft 8 JI18 40 41 81
73T =E FELHIY 39 42 81
86T n_ALCE GMG/\EF 38 44 82
86T DEEYE T£E 41 41 82
86T EE EE oEZ 41 41 82
86T H ERX N—EZ—ELR 40 42 82
86T _Jﬁ'li’f N—EZ—ELR 44 38 82
86T Hid B— JI1#8 40 42 82
86T BEiE 7l 2£-H00 44 38 82
86T b EL FELHIY 44 38 82
86T MR Bz N—EZ—ELR 40 42 82
95T e ERt EE 37 46 83
95T Zx IEA JIGE% 41 42 83
95T ki 1B FELHIY 40 43 83
95T INFE BX BHHAY-M 39 44 83
95T KBk K T£E 42 41 83
95T RG] FELHIY 42 41 83
95T FH EEE TfE 40 43 83
102T BP0 JERE £-H08 46 38 84
102T B2 —Ik MEEy R 41 43 84
102T k% BHE HEH 40 44 84
102T P e— £-H0O0 38 46 84
102T INE EF TE 42 42 84
102T &R BE N—E=—EIR 41 43 84
102T FE =F MEE 41 43 84
109T BAX _fIE nEHR 42 43 85
109T Rl EE T£E 43 42 85
109T ZIE =2 EE 42 43 85
109T INE EX 2-H0sH 41 44 85
109T a5 _&E FELHSY 43 42 85
109T B = HEH 43 42 85
109T K2EH 55— TEE 41 44 85
109T AE EE =1 udH 43 42 85
109T 2 13 FELAHOY 43 42 85
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109T Al 25 BnEH 44 41 85
119T Fik Z7) FELHOY 37 49 86
119T =B ER FELHIY 42 44 86
119T Il BR HEH 41 45 86
119T Ff 27F =1 udH 44 42 86
119T 2y BEE BEZ 42 44 86
119T SRE HEA JGMFHE 42 44 86
119T Frx B 2-HOH 48 38 86
119T o = TfE 42 44 86
119T ZELL R oEZ 40 46 86
119T XM {B— TE 47 39 86
119T tH = GMG/\EF 44 42 86
130T e N—F=— 47 40 87
130T I = FELAHOY 42 45 87
130T KX @ N—E=—EIR 42 45 87
130T HE BA JGMEFH = 41 46 87
130T Bl EX N—FE=— 43 44 87
130T JE7K B2 AER JI18 40 47 87
136T AR ¥ =+ LdH 40 48 88
136T /NI BhSE FELHIY 42 46 88
136T Fih &F TEE 44 44 88
136T 5% 2 FELHIY 42 46 88
136T o Flz Z-HPH 47 41 88
136T FaH —#k HEE 47 41 88
1427 dtH —F TfE 42 47 89
1427 NI & £-H00H 43 46 89
144T =5 IFRE TEE 46 44 90
1447 =)l _EA GMG/\EF 48 42 90
144T ERiE_ $Rah T£E 40 50 90
147T =i B2 J11 58 43 48 91
1477 B =1 1L 46 45 91
149T X% [5—EH =t 49 43 92
149T Xz WFX GMG/\EF 45 47 92
149T # AKX J11#% 46 46 92
149T EikE T J11 58 48 44 92
153 =it #z HEH 51 43 94
154 )il IEFE IN—F—— 48 47 95
155 AE F— £-H00H 54 43 97
156 AKX _#S T£E 57 45 102
15 ANIREED =+ LdH 51 54 105
EiE EH —X% 2-H05H - - -
EiE i 8 TEE - - -
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